
ANSWERS – VOLUME 1: EQUILIBRIUM 
Chapter 9, Trusses   problem 9.50, page 376 
 

Last update: 27-04-07 

Remarks: See §9.3.1, page 337 till 351. 
 
Answers:  
 

0N =  
 
Remarks:  
 
From the horizontal force equilibrium of the part left of right of the cut it 
follows that the normal forces in members a and b should be equal and in 
opposite direction.  
 
From the vertical force equilibrium follows that the normal force in the 
green member is zero. 
 
 
 
 
 
 
 
 
 

 
 
 
 

40 kN

40 kN 20 kN

20 kN

a b

 
 


